channel one pre—-+ilter ga db shot number & time = 138 18 7 4& Z2Z2
channel two pre—filter ga
channel 1 post filter gain =
channel post Filter gain =
channel one pre-+filter gain =
rannel two - pre—+filter gal
channel =t fFilter gain
channel ost fFilter gain

dib

db Q?vsﬁzo
db shot number 92 time = 1328 18 S8 84 EE
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water de wto- 5, 8000888 seconds time = 131 88 55 5& 4284 shot
zhaot number = 2244 time = 131 62 52 45 243 res] = @
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unable to open tape unit: SdevsnrléBbmil ?‘870/5_
unable to open tape unit: Adevsnrisdiamtl
unable to open tape unit: SdewnrisBdmtl
channel one pre-filter gain = 12 db shot number B8 ftime =
channel two pre—-filter gain = 12
channel 1 post Filter gain = 12 db
channel 2 post filter gain = 12 db /cy7x?§zS' 10
start reel 2 time = 131 8& 47 @4 757 (::d/71
| potential over load on channel ' ,
i file number = 1 time = 13231 84 47 84 737 pcgf/\/7 0%7
 potential over load on channel

g o

file number 2 time = 1321 84 24 7oY
potential over load on channel
file number = & time = 131 B&
potential ower load on channel
file number = %2 time = 131 84
potential over load on channel
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file number = 11 . time = 121 8é& 48 44 75&
potential over load on channel
file number = 12 time = 131 84 48 54 7355
potential over load on channel
file number = 13 time = 131 B& 4% @84 755
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file number = 14 time = 131 @&
patential over load on channel
file number = 15 time = 131 @&
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' potential over load on channel

potential over logd on channel 2

file number = 1e#fime = 131 8& 49 54 753

potential nﬂbr load on channel 2

file number = 28 time = 131 @& S8 14 753

potential over load on chamnel 2

file number = 21 time = 1. A& S8 24 7oz

potential over load on channel 2

file number = 22 time = 121 8& S8 24 732

potential ower load on channel 2

file number = 24 time = 131 @& 58 54 75l

paotential over load on channel 2

file number = 27 time = 131 8& 51 24 758

potential over load on channel 2

file number = 2?2 time = 131 @& S1 44 756

potential over load on channel 2

file number = 28 time = 131 Bs Sl 54 74%

potential over load on channel 2

file number = 32 time = 131 @4 52 14 7479

potential owver load on channel 1file number = 2353 time = 131 @& 32 29 7498
potential over load on channel 1file number = 34 time = 131 @& 52 94 747
potential over load on channel 1file number = 37 time = 1321 @& 33 @84 747
potential over load on channel i1file number = 38 time = 131 @& S3 18 7498
potential over load on channel! 1file number = 3% time = 131 8& 33 24 744
potential over load on channel 2

file number = 48 time = 131 845 532 Z4 V44

potential over load on channel 1file number = 41 time = 131 84 o2 44 745
potential over load on channel 1file number = 42 time = 131 8& 33 54 745




- potential over load on channel 1file number = 42 time =
potential over load on channel 1file number = 43 time =
potential over locad on channel 1file number = 44 time =
potential over load on channel 1file number = 4% time =
potential over load on channel 2
file number = 44 time = 121 @& 54 24 744
potential over load on channel 1file number = 47 time =

 potential over load on channel 2
file number = 48 time = 131 84 54 54 7423
potential over load on channel 2
file number = 4% time = 131 @& 55 84 743
potential over load on channel 1file number = 58 time =
_potentnal over load on channel 2
file number = 51 time = 131 8é S5 24 742
potential over load on channel 2 B
file number = 52 time = 131 8& 5% 234 742
potential over load on channel 2
file number = 54 time = 131 84 S5 54 741
potential over load on channel 2
file number = 57 time = 131 84 56 24 748
potential over load on channel 2
file number = 58 time = 131 @& S5& 24 748
potential over load on channel
file number = &8 time = 131 @&
potential nuer locad on channel
file number = 432 time = 131 Eé
channel one pre-filter gain
~channel two pre—-filter galn ='
channel 1 post filter gain = 12 db
channel 2 post filter gain =

t number 43 time =

patsntza! euer . .

file number = &4 tame 131 ae 5? 34 738 Lo .
channel one pre—-filter gain = @8 db shot number 65 time = 131 @& 57 44 737
channel two pre—-filter galn = @
channel 1 post filter gain = 12 db
channel 2 paat fllter jain = 12 db

channel two pre-filter gain = @
channel 1 post filter gain = 18 db
annel st filter gain = 12 db
éhéﬁﬁei one pre-filter gain = @
‘ two pre—-+filter gain
channel 1 post filter gain
channel 2 post filter gain

potential over load on channel 2
file number = B%7 time = 121 8% 1& 24 4351

- potential over load on channel 2 — :
~file number = 898 time = 131 8% 16 34 451

I
0l

end of tape shot number = 2744 time = 131 14 57 54 753 reel
eplace tape on unit @
"'ffae1 4 t!me = 131 14 52 84 752

ﬁatentta! over load on channel 1%319 n&'ber“’f&&ﬁifi :
potential over Toad on channel 1file number = 722 tTim

end of tape shot number = 2%944 time = 131 23 8% @2 748 reel = 4




start reel 2 Time = 131 Zo w% 1o 748
channel one pre-filter gain = @ db shot number 8 time = '
__channel two pre-filter gain = @
~channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
start reel & time = 132 84 3& 44 843
channel one pre-filter gain = @ db shot number 42 time = 132 ©84 44 B4 ®ag
channel two pre—filter gain = 8
channel 1 post filter gain = 18 db
channel 2 post filter gain = 12 db - T T e
channel one pre—-filter gain = 8 db shot number 47 time = 132 84 44 24 847
channel two pre—-filter gain = @
channel 1 post filter gain = 128 db
channel 2 post filter gain = 18 db
channel two pre—filter galn =12
channel 1 post filter gain = 12 db

ztart reel

channel

channel
channel
-““channe+*tmﬁ—pf?—+++ttr—g&+n—=%8——dh~4ha%~ﬁ&mbeP~2é—44ﬂw»4~—L32~@é~2&423*353——_——_—__

——chanmel 2 post FiTter gain =12 —db
7 otime = 132 84 1&452 257
ane pre ¥|Iter galn a B db shot number % time = 132 8& 128413 854
i past f:?ter Qarn = 12, db
2 post filter gain = 12 db

channel two pre-filter gain = 12
channel 1 post filter gain = 12 db
—channelt2 post +HiHergnins=stz2-bosrinrnrnr£n-L o R N
channel one pre-filter gain = @ db*shot ﬁumbeﬁy2§[fime = 132 ﬂé 21483 849
channel two pre-filter gain = @ o
channel 1 post Filter gain = 12 db
channel 2 post filter gain = 12 db
channel one pre-filter gain = 8 db shot number ¥@ time = 132 8¢& 31443 827
Qﬁiﬁﬁﬁ}ftw9_9r9~f1rtep gain = @& B cop et e s e e e —
channel 1 post filter gain = 18 db
channel 2 post filter gain = 12 db
channel one pre-filTter gain = @ db
channel two pre—+filter gain = @
channel 1 po:t fllter galn = 18 db
cl xane pre-¥11ter gatn~ﬁfﬁ5=dbﬁff_
channel two pre—filter gain=8
~cthanne! { post filter gain = 18 db
channel 2 post filter gain = 18 db
reel = 7

end of

tape =hot number =

122 14 27444 544

pete't;al over load on channel .
ﬁﬁf?ﬁTTET—EU———T—ia—aﬁ“tﬁaﬁﬁFT—T#TTE“ﬁumhﬁr"-—rf?f—tva~——fﬁ2~+?“42454~44+——-—~——
172 time =

potenti i
1371 time

potenti

‘end of

tape shot number =

load on channel
load on channel

al
al

aver
awver

_replace tape on unit 1

start reel
tape
tape

next
next

2946 time =

IFxle'number?

1¥ile number
1¥ile number
mecands time = 1321

2944 time =

=8 time = 132 14 29484 841

434085 441
14415 373

R oncdd LQUX

132 17
1

132 22 ﬂ8445 831

,_ﬁeerlﬁy

F time =
not on
not an

14
14

Tine
lTine

132 22 328455 2z

next
next
next

tape
tape
tape

14
14
14

line
line
tTine

not on
not on
not on

next

tape
no write ring

line 14

next

not on
on

tape unit 14
-
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channel two pre-filter gain = 12

channel | post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 18 time = 133 85 28 24 777

potential over load on channel 2

4

T f¥ivle number = 3 time = 133 @5 28 5S4 ¥¥F ; ;
channel one pre—-filter gain = 8 db shot number 4 time = 133 85 21 @84 7%
channel two pre—-filter gain 12

U channel 1 post Filter gain =12 db
channel 2 post filter gain = 12 db
potential over load on channel 2

43
~ud

o # it te number = ¢ time = 133 85 2124 ¢9 . =T e
channel one pre-filter gain = @ db shot number & time = 133 83 21 24 997
channel two pre-filter gain = 8

——charnmet tpost-Ffitter gain =12 db
channel 2 post filter gain = 12 dhb
channel one pre-filter gain = 8 db shot number 25 time = 133 8% 24 234 #91

ehanme T twopre=fittergain = & —
channel 1 post filter gasn = 18 db
channel 2 post filter gain = 12 db

Tﬂﬁﬂﬂﬂfhﬁmﬂrjﬂﬁr—%r¥t§r“gaTn“—~&*“db“ehcf“nvmb?r—2?—f+me—-—+EEF{P¥%P¥4%¢4¥ﬁ}—~—

channel two pre-filter gain = @
channel 1 post Filter gain 18 db

—chanmeiz post fitter gain="18—db -
end of tape shot number = 2944 time = 133 13 31 25 984 reel = 10

—replace tapeon—unit-8
start reel 11 time = 132 13 31 235 934

—end _of tape shot number = 2944 time = 133 21 42 q;ﬂ. 947 kr-e_‘e__l = 11

replace tape on unit 1 - Mu;;_] . . e
start reel 12 tim '+'138 21 42 44 ?68‘” : e -
water delay to 5.800008 secondes time = 134 aa 24 44 é34 shaot

573

I

water delay to 4.88080068 seconds time = 134 84 32 25 121 shot 2457
channel one pre—-filter gain = 12 db shot number 8 time =

channel ftwo pre—filter gain 12

channel 1 post filter gatn'= 12 db
channel 2 post filter gain =12 db
start reel 13 time = 134 85 18 84 842

channel one pre—-filter gain db shot number 4 time 134 895 1@ 34 642
channel two pre—-filter gain

channel 1 post filter qain

2
db

]

1
channel 2 post filter gain 1,
channel one pre-filter gain

channel two pre-filter gain

db shot

non

channel 1 post filter gain db
channel 2 post filter gain

channel one pre—filter gain

1
1

db ehot number 8 time 124 a5 11 14 a4a

(]

channel two pre-filter gain
channel [ post +ilter gain
channel 2 post filter gain

db
db

it

1
1

channel one pre-filter gain = db shot number 11 time = 134 83 11 44 @32%
channel two pre—filter gain =

i
1
2
2
a
@
2
2 db
@
2]
g
2
]
@
channel 1 post filter gain = 18 db

channel 2 post filter gain = 18 db

potential over load on channel 1File number = 213 time = 134 85 45 23 970
potential over load on channel 2 ’

file number = 228 time = 134 85 44 33 F&7
potential over locad on channel 2
file number = 221 time = 134 @5 44 42 747

potential over load on channel i{file number = 222 time = 134 85 48 53 747
potential over 1oad on channel 1file number = 2&% time = {24 85 54 43 951

water delay to 2.080808 seconds time = 134 846 23 63 892 shot = 43%
water delay to 4.8080808 ceconds time = 134 882 53 82 581 shot = 12328



R

= T = -~ > 7 o
channel i post filter gain = 12 db
channel 2 post filter gain = 18 db
channel one pre-filter gain = 8 db shot number 2845 time = 134 13 684 14 @&l
channel two pre—-filter gain = @
channel 1 post filter gain = 12 db

-——Ehaaﬂe+—2—pes%—$++%enmga+n—— 12 dk
‘channel one pre—filter gain = 8 db shot number 2843 time = 134 13 87 14 ass
channel two pre—filter gain = @

— i i dhb
channel 2 post filter gain = 12 db
channel one pre—-filter gain = @ db shot number 2844 time = 134 13 87 24 833
channel ty ~e—filter gain = @
channel 1 po:t filter ga:n'z 18 db

 channel 2 post +ilter gain = 18 db :
—cend of tape shot number = 2944 time = 134 13 21 @84 B27 resl = 13

replace tape on unit @
start reel 14 time = 134 13 21 14 82&

wﬁ&hanneiwenawpae«£+L¢epwgau;akJE;_db_shni;aumbanJlJujm;
channel two pre—-filter gain = 12

channe! 1 post filter gain = 12 db
_channel 2 post filter gain =12 dhb

ztart reel 1S time = 134 132 54 82 953
__potential over load on channel 2

file number = 4 time = 134 13 54 33 957 i
channel one pre-filter gain = @ db shot number & time
channel two pre-filter gain = 12

134 13 54 53 956

i

channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
channel cone pre-filter gain = @8 db shot number 7 time = 134 13 55 83 2354
chaﬂné} tWO pre~{']ter Qaln = g  *‘,“, T e S T
channel 1 post filter gain = 12 db
~channel 2 post filter gain = 12 db - L '
channel one pre—filter gain = @ db shot number 48 time = 134 14 @1 53 742
channel two pre—-filter gain = @
__channel 1 post filter gain = 18 db
- .channel 2 post filter Qain =12 &b .. . -
channel cne pre-filter gain = @8 db shot number 4% time = 134 14 82 83 9?41
channel two pre-filter gain =8 : :
channel 1| post filter gain = 128 db
channel 2 post filter gain = 18 db

 water delay to T.0000B8 seconds time = 124 17 84 43 5« - E
water delay to &.988088 seconds time = 134 {9 11 45 36é . shot
end of tape shot number = 2744 time = 134v22v@4_54 58 reel =

replace ftape on unit @
start reel 14 time = 124 22 85 84 258

potential over load on channel 2
FiTe number = 153 time = 134 2 7 .

.1 one pre-filter gain = 12 db shot number @ time =
_two pre—filter gain =12 , '

channel 1| post filter gain = 12 db
channel 2 post filter gain = 12 db
___5iart resl 17 time = 135 @8 346 23 414

- channel one pre-filter gain = @ db shot numbe"”w'fﬁﬂﬁéQi'”
channel two pre-filter gain = 12 i
channel | post filter gain = 12 db

channel 2 post filter gain = 12 db
potential over load on channel 2
file number = & time = 135 @8 57 15 612

potential over load on channel 2 _ _
file number = 7 time = 135 @@ 57 25 612 : P - ,
135 88 57 45 &11

]

channel two pre—-+filter gain = 8
channel 1 post filter gain

= db
channel 2 post filter gain =

l

L channel one pre—filter gain =8 db shot number % ttme
|

| z2

{ 2 db

1
1




channel one pre- fllter gain = @ db shot number 14 time = 135 8@ 58 35 407

channel two pre—filter gaxn = @

channel | post filter gain = 18 db

channel 2 post filter gain = 12 db

channel one pre-filter gain = @ db shot number 15 time = 135 8@ 58 4% 467
—channel two pre-filter gain = @

channel 1 post filter gain = 18 db
channel 2 post filter gain = 18 db
— potential over load on channel 1file number = 538 time = 135 82 25 55 433

channel one pre-filter gain = 8 db shot number 545 time = 135 82 27 @3 428
channel two pre—-filter gain = @
——&hannel 1 post filter gain = 12 db
channel 2 post filter gain = 18 db
channel one pre-filter gain = 8 db shot number 547 time = 135 82 27 25 430
— channel two pre-filter gain =86 L
channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db

—water delay to S.60ABGRA seconds time = 133 82 37 34 489 shot 488
water delay to 4.808088 seconds time = 135 A2 57 24 346% shot 727
potential over load on channel 1file number = 747 time = 135 83 84 13 355

 water delay to Z.008688 ceconds time = 135 832 84 13 385 shot = 7&7

I
fin

patertdalapvern dcadoppichennadsifihe sumbsSras dE452t9me = ¢REt6S TB743 014
channel one pre-filter gain = 8 db shot number 1884 time = 135 B84 1@ 33 973
channel two pre-filter gain = 8

channel 1| post filter gain = 18 db
channel 2 post filter gain = 12 db o
channel one pre-filter gain = @ db shot number 1885 time = 135 86 18 43 973

channel two pre—-filter gain = @
channel 1 post filter gain 12 db
channel 2 peost filter gain 18 db

potential over load on channel 2
file number = 1898 time = 135 B4 12 53 2&%

— potential over load -on channel 1file number = 1892 time = 135 86 13 A3 948

non

potential over load on channel 1+file number = 1788 time 135 8& 13 13 248
potential over load on channel 1file number = 1781 time 1235 8& 13 23 748

"Mfhaﬁﬂé4—€H€~£*%—4Q44£¢L£HH%——_ﬁ——{mk4¢uﬂ;4um¢mP 1281 time = 135 84 13 23 948
channel two pre-filter gain = 8 - . . ' ‘
channel 1 post filter gain = 12 db

——channel 2 post Filter gain =18 db

channel one pre-filter gain = @ db shot number 1982 time = 135 @& 13 33 9&7

channel two pre—-filter gain @
——channel—l-post Filter gain = 12 db

channel 2 post filter gain = 12 db ... .
water delay to 5.8888008 seconds time = 135 @84 17 53 958 shot = 1928

— channel one pre-filter gain = 8 db shot number 2135 time = {135 A4 52 24 887

channel two pre—filter gain = @
channel 1 post filter gain = 18 db
. channel 2 post filter gain = 12 db R
channel one pre-filter gain = 8 db shot number 2137 time = 135 86 52 44 887
channel two pre-filter gain = @

. channel | post filter gain ig dhb

channel 2 post filter gain = 18 db
water delay to 4.8008688 seconds time = 135 87 246 33 817 shot = 2348

end of tape shot number = 2944 time = 135 AP A7 33 &68 reel = {7
replace tape on unit @ ’ - = .
start reel 18 time = 135 8% 87 43 688

~channel ane pre-filter gain = 8 ﬁhmzhgi_numhgr 8 time =

channel two pre-+ilter gain = @
channel 1 post filter gain =
—channel 2 post filter gain = 12 db

start reel 1% time = 1235 11 27 43 218 :
channel one pre-filter gain = 8 db shot number 27 time = 135 11 32 @3 38¢
~channel two pre-filter gain =86

]
-
o
L
ng

channel 1 post filter gain




channel two pre-filter gain = @

channel 1 post filter gain = 18 db

channel 2 post filter gain = 12 db

channel one pre—filter gain = 8 db shot number 2% time = 125 11 32 23 268%
channel two pre—-filter gain = @

channel 1 post filter gain = 12 db
channel 2 post filter gain = 18 db
water delay tc 2.800888 seconds time = 135 11 58 53 254 shot = 188

. channel one pre-filter gain =8 db shot number 1%4 time = 135 12 68 82 241

channel two pre—-filter gain = @
channel | post filter gain = 12 db
. channel 2 post filter gain = 18  db
channel one pre-filter gain = @8 db shot number 193 time = 135 12 88 12 251
channel two pre—-filter gain = @
_channel 1 post filter gain = 12 db o
channel 2 post filter gain = 12 db
channel one pre—-filter gain = 12 db shot number 8 time =
. channel two pre-filter gain = 12
channel | post filter gain i2 db

channel 2 post filter gain = 12 db

start reel 28 time = 133 12 26 682 177
potential over load on channel 1file number = 1 time = 135 {2 2& @82 197
—potentiat—over—toad-on charmmet—t+i-tenumber—=2-time =132 2642 4% —————
potential over load on channel 2
file number = 5 time = 135 (2 24 42 174
——-potertialt--over—toad-on—channet-—2
~ File number = & time = 135 12 2& 52 17&

potential over load on channel i1file number '?vtime'=‘135 i2 2? 22 195

~ potential over lcad on channel 1file number = 18 time = 135 12 27 32 1%4
potential over load on channel 1file number = 11 time = 135 12 27 42 1%4
potential over load on channel 1file number = 12 time = 135 12 27 52 174

channel one pre—-filter gain = & db shot number 12 time = 135 12 27 32 194

channel two pre—-filter gain = 12
channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
channel one pre-filter gain = 8 db shot number 14 time = 135 12 28 12 173
channel ftwo pre—filiter gain = @
channel 1 post filter gain = 12 db
channel 2 post filter gain = 1Z db
——water—detay to 48808080 seconds time =135 131382 88— shot =283

channel one pre—-filter gain = 8 db shot number 914 time = 135 14 58 12 B83
channel two pre—filter gain =
——channmet—tpost—Fitter gain-=
channel 2 post filter gain =
channel one pre—-+filter gain =
——chanmelt two pre=ftitter gain =
channel 1 post filter gain = 1 db
channel 2 post filter gain = 12 db
——channet—one pre—fitter gain =8 —db shot number 14 time = 135145832882 —
channel ftwo pre—filter gain = @
channel 1 post filter gain = 128 db

dbx
dbr
db shot number %15 time = 135 14 58 22 883

1
1

00 = P
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135 1& 4% 32 654

— potential cuver load on channel 1file number = 1382 time
125 1& 4% 42 453

15282 time

potential over load on channel 1file number = 1377 time = 135 14 15 22 724
potential over load on channel 1file number = 13%1 time = 135 1& 17 42 717
—— potential ocver load on channel 1file number = 13%2 time = 135 14 17 52 717
potential over load on channel 1file number = 1393 time = 133 1& 18 82 718
potential over load on channel i{file number = 1394 time = 135 14 18 12 718

potential over load on channel 1+ile number
potential cver load on channel 2
- File number = 1478 time = 1383 17 87 32 &17
potential ocver load on channel 1file number = 1&%1 time = 135 17 87 42 617
potential over load on channel 2
. File number = 1473 time = 125 {7 @88 82 &ls&
channel cone pre-filter gain = @& db shot number 14932 time = 135 17 88 82 &1&
channel two pre—filter gain =
—channel 1 post filter gain = 12 db
channel 2 post Filter gain = 18 db , e ! R
db shot number 16?6 time = 135 17 88 32 415

channel one pre-filter gain = @
—channel two pre—-filter gain = @
charnnel 1| post Filter gain = 12 db
channel 2 post filter galn = 18 db
—channel one pre—=fil

= ber 1&478 time = 135 17 688 52 &14
channel two pre-filter gain = @ : L iy
channel 1 post filter gain = 12 db - - o .
~channel 2 post filter gain = 12 db : |
water delay to Z.080088 seconds time = 135 17 22 52 585 shot = 1782
potential over iocad on channel 2
——file number = 1878 time = 133 17 37 43 533 B I ,
potential over load on channel 1lfile numpgr‘z"ls?l j?vlaﬁiﬁ?ka?w53{555y
water delay to 2.808888 seconds time = 135 17 28 22 54  shot = 1874
_.;mdeni4ai_nuenulxﬁuLanJJunumdqugiawnumhgz“w_iiiawiime 135 17 4% a2 548

potential cver locad on channel 1file number = 1724 time 125 17 47 12 335

channel one pre—filter gain = @ db shot number 19368 time = 135 17 47 52 5324
T channel two pre- f:ltéF—ngﬁ“'—B : e e o :
channel 1 post filter g in = & db
channel 2 post filter g = 12 db - .
““tﬁzﬁﬁﬁT*ﬁﬁﬁwpF?“?TTT?T“@ﬁﬁT”**ﬁ“‘dﬁ*%hﬁ%“ﬁnmﬁ?r“f?32*1Tm?~——faq—f?~48—f2—58q—w——w—
channel two pre-filter gain = @
channel 1 post Filter gain = & db
TThanmel 2 post Filtter gain =& db Eoneaa T T
~ water delay to 1.868888 seconds time = 135 18 17 @1 474  shot = 2185
channel one pre—-filter gain = 12 db shot number & time = — ‘ i
“ochanmel two pre=filter gain =12 |
channel 1 post Filter gain = 12 db
channel 2 post Filter gain =
***Etart~r?9+—ET-tTme"~MT85 R S SR 381
1

|
|
|
|

1 t:me 135 1? EE 31 381

~ potential over load on channel 2
~file number = 3 time = 135 19 82 51 38@

file number = 5 time = 135 19 @82
channel one pre—+filtTter gain = & db snot‘ﬁﬁmBFF”E“TTmﬁ—‘“TES“T?‘ﬁﬁ“TT“?Eu
channel ftwo pre-filter gain = 12

channel | post filter gain = 12 db

channel 2 post filter gain = 12 db

potential over load on channel 2 '

file number = & time = {35 1% 83 21 37%

charnnel one pre—filter gain = @& db shot number & time = 25 1% @3 21 37%
channel two pre—-filter gain = @
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potential owver load on channel 2
fFile number = 7 time = 135 1% 83 31 3779
channel one pre—-filter gain = db shot number 8 time = 135 1% 832 41 379
channel two pre—-filter gain = @
charnnel 1 post Filter gain = & db
chanmet Z post fitter gain =12 db _ R
channel one pre—-filter gain = @ db shot number 2 time = 135 19 83 51 378
‘channel two pre-filter gain = @ 1
—channettpost Filttergain =" —db
channel 2 post filter gain = & db
n channel 2

file number = 37 time =

135 19 88 31 34% » .
time = 138 {9 54 31

271

- water delay to 2.8808808 seconds ﬂhot 323
channel one pre—-filter gain = A& db shot number 518 time = 135 28 2?.22 218
 channel two pre—-filter gain = @
channel 1 post filter gain = 12 db
_channel 2 post filter gain = & db
{ channe! cne pre-filter gain = 8 db shot number 511 time = 135"23‘3! dﬁ 287 _
~ channel two pre—-filter gain = 8 L e
~ channel 1| post filter gain = 12 db
~ channel 2 post filter gain = & db ~
. channel one pre—filter gain = 8 db shot number S12 time = 135 28 27 42 28%
channel two pre-filter gain = @
channel | post filter gain = {2 db _ L S ‘
channel 2 post filter gain = 12 db e sl e o
water delay to 3.0080888 seconds time = 135 28 2% 42 283  shot 24
channel one pre—filter gain = @ db shot number 3554 time :
channel two pre-filter gain = @
channel 1 post filter gain = 18 db
channel 2 post filter gain = 12 db - e
channel one pre-filter gain = @ db shot number 555 time =
channel two pre-filter gain = @ :
channel 1 post filter gain = 18 db
channel 2 post filter gain = 18 db
water delay to 4.908660 seconds time = 135 28 35 23 173
~ potential over load on channel 1file number = 5%1 time = 183
. potential over load on channel 1file number = S9% time = 188
potential over load on channel 1file number = 486 time = 133 28 42 24 iz8
potential over load on channel 1file number = 443 time = 1235 20 4% 34 1&5
potential over load on channel 1file number = &4& time = 135 28 38 84 1&4d

potent:al
potential
| _potential over load on channel 1file number
db shot number 11287 time

channel
channel
channel

over load on channel
over load on channel

one pre—filter gain = @
two pre—filter gain = @
1 post filter gain = 12

channel cne pre—filter gain = 8 db shot number 453 time = 135 28 51 14 1&2
ch el two pre-filter gain =8 = o
el 1 post filter gain =u12“*db

channel 2 post filter gain = 18 db S : o '
channel one pre—-filter gain = @ db shot number 6*4 time = (25 26 51 Z94 1&2
channel two pre-filter gain = @
cha nel 1 post filter gain = 12 db

o nel 2 post filter gain = 12 db e
: delay to 5.0800089 seconda time =f'¢~"_,-[3; 810 &
water delay to &4.8088080 seconds time = 135 21 35 25 875  shc - 18
channel one pre—filter gain = 8 db shot number 1147 time = 130 22 13 35 777
channel two pre—-filter gain = @
channel | post filter gain = 18 db
channel 2 post filter gain = {2 db - o,

~ channel one pre—filter gain = @ db shot number 1148 time = 135 22 13 45 299
channel two pre-filter gain = @ -
channel 1| post filter gain = {8 db
channel 2 post filter gain = 18 db

t—over—leoad on—channel-filen

ifile number
tfile number

= =

1184 time = 135 22 15 45 987
1185 time = 135 22 19 55 986

e
=
e
b

135 22 28 15 984



channel 2 post filter gain

channel one pre—-filter gain

ig

= B db shot number 1188 time = 135 22 28 25 %34
channel two pre—-filter gain = 8
e
2

channel 1 post filter gain = db
channel 2 post filter gain = db

*end—af—t&pﬁ—shct~number—”"29#6~tTme*‘~f86—ﬁ8~f8-25~396~——ref* =21
replace tape on unit @
start reel 22 time = 136 83 123 35 375

nwwchauneluonewpne—£4iie:"{ﬁuxum_JL_Jﬂl_ahoi_numhan_ﬁﬂﬁ_i¢m£7— 134 84 186 35 27%
channel two pre—-filter gain @ -
channel 1 post filter gain = 18 db

. channel 2 post filter gain = 12 db

channel one pre—-filter gain db shot number 245 time 134 @4 14 55 278

channel two pre-filter gain
—..channel 1 post filter gain

db

channel 2 post filter gain = 1
channel one pre—filter gain
channel two pre—-filter gain

db

136 84 11 15 278

channel 1 post filter gain db

@
@
18
2 T T
8 db shot number 347 time
@
= 18
channel 2 post filter gain = 18 db

__4maL&ni;al_nuenwlnadmnnpchannel,li;l£~numhﬁn_s_iiﬁé_;;mgu=‘136,68 44 24 715
potential over load on chanpel 2 o
file number = 1994 time = 134 88 45 44 712

. potential over load on channel 2

file number = 1993 time = 13& 88 45 5S4 712
potential over load on channel 1+file number = 1974 time = 134 88 44 a4 711l

___channel one pre—filter lenwwwﬂmmdbwshgiﬁnumhgr 1229 txme = 136 88 46 24 718

channel two pre-filter gain = @

channel 1 post filter gain = 12 db

- channel 2 post filter gain = 18 db
channel one pre—+filter gain = 8 db shot number 28681 time = 1324 88 44 54 7la
channel two pre—-filter gain = @

__channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db
unable to open tape unit: SdevsnridBimtl
. chanpel one pre—filter gain = 8 db shot number 8 time =

channel ftwo pre—-filter gain = @
channel 1 post filter gain = 12 db
___channel 2 post filter gain = 12 dhb

start reel 232 time = 134 82 52 04 &97

water delay to 5.000808 seconds time = 136 88 56 84 491 shot = 1%
__water delay to 4.000808 seconds time = 13& 8% 11 43 &59  shot = 113
water delay to J5.08688808 zeconds time = 134 B 35 32 487 shot = 235

potential over load on channel 2
file number = 315 time = 136 8% 45 33 58?

potential over load on channel 2
file number = 318 time = 134 8% 44 83 588

__channel one pre—-filter gain = @8 db shot number 328 time = 134 8% 44 23 587
~ channel two pre-filter gain = @8
f channel 1 post filter gain = & db

‘channel 2 post fFilter gain = & db”

water delay to 4.800880 seconds time = 13& 18 17 33 522 shat = 38%
——mwater delay to 5.08088608 seconds time = 13& 11 38 22 353 shot = 244
water delay to 4.0000080 seconds time = 138 11 48 13 314  shot = 1851

channel one pre—filter gain = 8 db shot number 1184 time = 138 12 1@ 24 278

— channel two pre—filter gain = 8
channel 1 post filter gain = 1
channel 2 post filter gain = & db




channel two pre—filter gain = 8
channel 1| post filter gain = 12 db
channel 2 post filter gain = & odb
channel one pre-filter gain = 12 db shot number 1187 time = 138 12 1@ 34 247
channel two pre—+filter gain = @
2 _db

—channel 1 post filter gain = 1
- channel 2 post filter gain = & db - : DL
potential over load on channel 1file number = 1188 time = 134 12 11 84 249

_ potential over load on channel 1file number = 118% time = 136 12 11 14 24%

channel one pre-filter gain = 12 db shot number 118% time = 13& 12 11 14 Z&%9
channel two pre-filter gain = 8@

-~ channel 1 post filter gain = 12 db
~ channel 2 post filter gain = & db e e
potential cver load on channel 1file number = 1198 time = 136 12 11 24 Z2é8
__channel one pre-filter gain = 12 db shot number 11%8 time = 13& 12 11 24 248

channel two pre—-filter gain = @
channel 1 post filter gain = 12 db
w_wghannglmzmggﬁt filter gain = & db

n

 potential owver Toad on channel 1file number f;i?}iﬁfﬁg*@%faﬁgiﬁﬂfi&3§f3§8f;"

 potential over load on channel tfi?avnumﬁér:#'i!?Q'iime'=v1§é'i23§1“§4“é68
potential over load on channel 1file number = 1193 time = 136 12 11 54 247

channel one pre—filter gain db shot number 11%4d time = 132& 12 12 84 Z&7
channel two pre—-filter gain
channel 1| post Filter gain db

n
R e

= 1.
channe] 2 poet fr1ter gain = ¢ @6 e e
channel one pre—-filter gain db shot number 1195 time = 134 12 12 14 Z2&4&

= @
channel two pre—filter gain = @
channel 1 post filter gain 12 db
channel 2 post filter gain & db
channel one pre-filter gain = 8 db shot number 1174 time =

- channel two pre-filter gain =8 -
channel | post filter gain 12 db
channel 2 post filter gain & db

i

13& 17 12 44 2&5

channel one pre—-filter gain = 8 db shot number'1198 time
channel two pre—+filter gain = 8
channel 1 post filter gain = 12 db

~ channel 2 post filter gain = 12 db
~ end of tape shot number = 2944 time
replace tape on unit @

ztart reel 24 time = 1324 17 84 135 &&é
water delay to 5. BBBG@G secondc time = 13& 17 2& 25 &28 shot = 13&

er 473 ti 134 18 23 34 583

—~4#wmne¢;2~posx_i+lien_ga1n =

channel two pre-filter gain

2

=

channel one pre—-filter gain = 8
= 8

8

a2

.3 & ] ..__p.c;.s_;_-£4_L_te_Lgaxn = 18 db
channel 2 post filter gain = 18 db ' -
water delay to 4.908088008 seconds time'= 136 15 33 54 363 hot = a9y
—water delasy to 3.800000 seconds time = 136 28 24 13 261 shot = 1198

potential over load on channel 1file number = 1277 time = 136 20 37 22 235
potential over load on channel 1file number = 1278 time = 136 280 37 32 235

—-_-F_;__]_t_e_r_gaJ =8 db shot number 11?9’ Hme o 13623 3742235 ‘

Ef’channel two pre—-filter galn =0

~ channel 1 post filter gain = 12 db

;__c,hme_‘l_zﬂpnst filter gain = 18 db S -

1 channel one pre—-filter gain = 8 db shot number 1288 time = 136 28 27 32 234
 channel two pre—+filter gain = @

| anne =t filte ain = 12 db



channel 2 post filter gain = 12 db

water delay to 2.8000880 seconds time = 134 28 3% 22 231 shaot = 128%
water delay to |.88086008 seconds time = 134 28 44 81 218 shot = 132%

potential over load on channel 1file number = 1357 time = 13& 28 5@ 58 268
potential over toad on channel 2

_wi¢i£_numb££___1358_1¢me = {34 26 51 86 B854
potentra? over load aon channel 2 Sl
file number = 1359 time = 134 28 51 11 288

___potential over load on channel 2

file number = 1348 time = 13& 28 31 21 Za7
potential over load on channel 2
wﬁiJJjLJMHMMHl___lﬁﬁl_iimf = 134 268 51 31 247

potential over load on channel 1file numbervm"“ﬁ im
. 1channa1 ane pra*%rlter gain = 8 db ﬁhﬂt numher 1353
_¢channel two pre-—filter gain = @

channel 1| post Filter gain = & db
channel 2 post filter gain = 12 db
TmﬁﬂiﬁniLﬂLwauitwhwﬂiJuLjﬁjﬂﬂf1 z

file number = 1384 time = 134 28 52 31_2
channel one pre—filter ga;n = @ db shat number 13&4 time

;;_channgi_iug_pngziLLigL_gaxn = @

channel 1 post filter gain =
channel 2 post filter gain =

potentxal loaﬂ on channet
potential over load on channel

_ water delay to 2.808806 seconds tlma “li?& 23 35 28 839 »75hmt = Eﬂaﬁ

uer

water delay to 3,008888 seconds time = 137 88 15 41 773 shot = 2584
channel one pre- ¥|1ter gain = db shot number 2321 time = 137 88 14 22 77&

137 88 16 42 796

channel
channel

channel two pré~f:1ter’gatn

—.channel- 1 post f]i in.=1
channel 2 post Ffilter gain = 1
ztart reel 25 time = 137 81 BE 4z &%4

137 81 85 52 &%7&8

—channel cne pre-=fil
~ channel two pre-filter gain =
channel 1 post filter gain

. channel 2 post filter gain

channel one pre—filter gain = db shot number 3 time = 137 81 Bs B2 478
channe]l two pre- Fllter qaln =

a1 51 48 &B2

pﬁténtialvcver Toad on channel 1file numbér 2?? tlme = 137 @i

FRi S pre—filter gain @ db chot number 281 time = 137 @1 52 30 408
channel two pre-filter gain = @




channel one pre—filter~gain 8 db shot number 282 time

137 @81 52 48 588

channel two pre—-+ilter gain g
channel 1| post filter gain = & db
channel 2 post filter gain = & db
potential over load on channel 1file number = 1271 time = 137 84 37 31 259
. LL;L_oueaﬂhmuixxLimauneiwii¢le~numher = 12868 time = |37 @4 3% 81 254
 potential over load on channel 1file number = 1281 time = 137 84 3% 11 255
i'water delay to 2.8008088 seconds time = 137 04 44 11 241 _shot =’1323; i
—water delay to 3.0800008 seconds time = 137 84 55 42 221 zhot = 1388 |
water delay to 4.8888088 seconds time = 137 85 17 12 177 shot = 158%

channel one pre—-filter gain = 8 db shot number 1832 time

—filter gain =8

= 137 85 37 44 134

’ ch&hﬁé} 1 post filter gain = 12 db
;hamhe¥ 2 post filter gain = & db

—filter gain = @8 db shot pnumber 1433 time

= 137 85 37 54 124

channel two pre—-filter gain 8
channel 1 post filter gain = 12 db

repfaée tape on unit @

water delay ta <1 &@BQBB seconds tlme = IS?NE&HQ&’E%;&%?‘”’Sth 18??
potential over load on channel 2 ' 5 o
. file number = 1987 time = 137 B& 34 53 811 S
potential over load on channel 1file number = 1788 time = 137 B& 37 63 @11
water delay to 4.8888688 seconds time = 137 87 84 82 2?55 shot = 2158
4 ,_Eﬁﬂ&aﬂ&ﬁmaaaund._iimg = 127 82 84 13 8238 shot = 2511
ape shat number = 2944 tnme = 13? 39 16 42 &79  reel 2%
__start reel 28 time = 137 6% 1& 52 &TZ
water delay to 2.806808808 seconds time = 137 8% 1% 12 474 shot =
water delay to Z.808888 zeconds time = 137 8% 5% 32 578 shot =
__water delayr to 4,397998 seconds time = 137 18 18 33 347  shot =
water de]ay to 3.000000 seconds time = 137 18 13 13 Sé&2 wfhetk#
__Jnaian_dgiax~iﬂ_24ﬁﬁﬁﬁﬂEaﬁgnﬂndi*ing = 137 18 16 32 555 ahot = 358

potential over load on channel 1file number = 517 time = 137 18 43 @z 5@3
channel one pre—-filter gain = 8 db shot number 5268 time = 137 18 43 32 4%%
1 two pre-filter gain = @
el 1 post Ffilter gain = & db
el 2 post filter gain = 1 db

= 127 18 43 42 4%%

,2
channel one pre-filter gain = @8 db shat number 521 tlme
= B

channel two pre-filter gain
channel | post filter gain = & db
channel 2 post filter gain = & db

water delay to 1.8080088 seconds time
potential over load on channel 2
file number = 745 time = 137 11 24 31 414

potential over load on channel 2
file number = 744 time = 137 11 24 41 414

otential _over load an channe] 2
: e wvoverfiaad on_channa] 2 '* : vw‘“;v
 file number = 771 time = 137 11 25 31 41z

potential over Toad on channel 1¥iTe number = 772 time =

137 11 25 41 411

channel one pre-filter gain = 8 db ahot number 7?4 t;me
= @

- 1a7

1

channel one pre-filter gain = @8 db shot number 772 time = 137 11 25 51 411
channel two pre—filter gain = @

channel 1 post filter gain =8 db~

channel 2 post filter gain = & db

i 26 81 411

channel two pre—+ilter gain
channel 1 post filter gain = &8 db
channel 2 post Filter gain = 8 db

channel two pre—filter gain
channel 1 post filter gain =

e

& db
8 db

channel cne pre—filter gain = @ db shot number 1074 time

channel 2 post filter gain
channel one pre—-filter gain =
channel two pre- f:]ter gann =

db shot number 1873 time

137

12 14 11 z@v7




LHrSrieE T 4 PSR T LR gai it
channel 2 post filter gain

I
o

L
r

channel one pre—-filter gain = 8 db shot number 11%8 time = 1237 12 35 21 247

channel two pre- f:!ter gain = @

o in. =12 db
channel 2 post filter gain = & db
potential over load on channel 1File number = (171 time = 13237 12 35 321 247

. channel one pre-filter gain = @ db shot number 1171 time = 137 12 35 31 267
channel two pre—-filter gain = @ ' '
channel 1 post Filter gain = 12 db

~channel 2 post Filter gain = 12 db
potential cver load on channel 2
file number = 11722 time = 1237 12 235 41 244

potential over load on channel 1file number = 1172 time = 137 12 235 51 Z&é
channel ane pre—filter gain = @ db shot number 11?3 time = 137 12 35 51 288
channel two pre-filter gain = @ :

__channel 1 post filter gain = & db
channel 2 post filter gain = 12 db
potential cver load on channel 2

file number = 1124 time = 137 {2 3& B1 Z&4 B
channel cone pre—-filter gain = @ db shat number 1174 tnmef,'iS?ﬁX?%Sé~Bia266
channel two pre—-filter gain = @ ' ' |

. channel 1 post filter gain = & db : i - |
channel 2 post filter gain = & db |

L

_thaﬁne¥—0ﬁ9~pf?-+r%.~ : i a6 e
channel two pre—-filter gaxnn;;;
- channel 1 post filter gain = 12 db
— chanrel 2 post filter gain =12 db
start reel 27 time = (27 17 14 18 &%8
potential over load on channel 2
et ide number = | time = 1237 17 14 18 596,
potential over load on channel 2 L : -
file number = 2 time = 137 17 14 28 68?'
-potani+al-ou&n”load_nn_channelwixiiamnumban = 3 time = 137 17 14 38 &89
potential ower load on channel 2
file number = 4 time = 137 17 14 48 &5%9
—potential over load on channel 2 —
~ file number = 5 time = 137 17 14 S8 &88
potential ower load on channel 2
o File npumber = & time = 137 17 15 6@ &85
potential over lcad on channel 2
file number = 7 time = 137 17 15 1@ &87
mmdﬂl&an&lwﬂﬂﬂwpﬂﬁmi¢liEE_QALﬂw_wﬁ__dh_iﬁﬂi_ﬂumhfF 7 time
channel two pre-filter gain = 12
channel 1 post fllter ga;n = 12 db.nefb,;b;
L a0

137 17 15 18 487

potential over load on channel Z
file number = 8 time = 137 17 15 28 &87

127 17 15 2

channel two pre-filter gain =6
channel 1 paost filter gain = 12 db
_&Mchannglmz_pgst filter gain = 12 db

channel ane pre—-+filter gain = 8 db shot number % time = 137 17 13 28 &87
channel two pre—-filter gain = @

channel 1 post filter gain = & db

channel 2 post Filter gain = 1 db

channel one pre-filter gain = @ db shot number 18 time = 137 17 15 48 &84
—.channel two pre-filter gain = @
channel 1 post filter gain & db




water delay to 8.0880688 seconds time = 137 18 3% 28 514

water delay to 1| .8888860 seconds ®ime 128 g1 a6z za 728
end of tape shot number = 2944 time = 138 @81 25 11 &81

replace tape on unit 8
start reel 28 time = 138 61 25 21 &£28
—agater delay to 2.88680808 seconds time

128 88 B2 8@ g83%

water delay to 3.880086860 seconds time 138 @8 25 51 789

shot = 512
shot = Z288%
reel = 27
shot = 2388
shot = 2582

138 % @5 12 728

channel one pre-filter gain = 8 db shot number 273% time
channel two pre-filter gain = @

channel 1 post filter gain = 12 db

channel 2 post filter gain = & db

channel one pre—filter gain = @ db shot number 2788 time
channel two pre—-filter gain = @
channel 1 post filter gain = 12 db

i

138 8% 85 22 727

channel 2 post filter gain = 12 db
end of tape shot number = 2944 time = 138 8% 3& 22 &&3
replace tape on unit 1

reel = ZB

ztart reel 29 time = 138 8% Sé B2 A&Z

~__channel one pre—~filter gain = 12 db shot number 8 time =

channel two pre—-filter gain 12
channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db

ztart reel 360 time = 138 15 B3 21 %85
potential over locad on channel 1file number = 1 time
potential over load on channel 2

[}

13

& 15 83 21 985

file number = 2 time = 138 15 @83 31 985

2 15 83 41 985

—potential over load on channel 1file number = 3 time = 13
potential over load on channel 1file number = 4 time = 132
channel one pre—-filter gain = @ db shot number 4 time =

—channel two pre-filter gain = 12

8 15 82 51 724
138 15 @82 51 7E4

channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
_ _channel one pre—filter gain =8 db shot number S time

|

1

138 15 @4 8l 984

channel two pre—-+filter gain = @

channel | post filter gain = 12 db
—Channel 2 post filter = 12 db
'“"tﬁEﬁﬁFT"ﬁﬁF”ﬁ?éz?TTTFF“@ETﬁ_E“B““TEF%ﬁtﬁ“ﬁUmh€F“#ﬁ?;TTmF_=—T38_Tﬁ_T?_??—82?*—”““*"‘
channel two pre-filter gain = @ :

channel 1 post filter gain = 18 db

o Tharmel 2 post fitter gain = t2
channel one pre—-filter gain
channel two pre—-filter gain a

=
=

db T I
@ db shot number 438 time =

138 14 19 32 829

— —chanmel 1 -post Filtter gain ="18—db
channel 2 post Filter gain = 18 db
potential over load on channel Z

tfile number = 183% time = 138 17 3% 4Z 424 o
1848 time

138 17 59 52 423

potential over load on channel 1file number = = _

potential over locad on channel 1file number = 1841 time = 138 18 88 B2 &23
potential over Toad on channel 1+ile number = 18482 time = 138 18 88 12 &23
potential over load on channel 1file number = 1872 time = 1328 18 83 12 &1Z

channel one pre-filter gain = & db shot number 1186 time

= 138 18 87 32 &88

~ channel two pre—-filter gain = 8

~ channel | post filter gain = 12 db

~ channel 2 post filter gain = 18 db

; channel one pre-filter gain = 8 db shot number 1187 time = 159 18 W7 9 &W7
~ channel two pre-filter gain = @

| channel 1 post filter gain = 12 db



fe PEAGATEIRES R Ll o L R A L R I el et

water delay to Z.B08868 seconds time = 138 28 45 @3 Z8& =hot
water delay to |.8680088 seconds ftime = 138 21 32 12 171 shot

potential owver load on channel 2
file number = 2247 time = 128 Z1 3234 21 187

2831
2324

potential over load on channel (file number = 2248 time = 138 21 34 3231 187
potential over l1oad on channel 1FiTe number = 2Z3&% time = 138 Z1 38 @1 1589
potential over load on channel 14ile number = 2288 time = 1238 21 2% 51 174

potential over load on channel 2

file number = 23281 time = 138 21 4@ ©1 17&
potential over load on channel 2
file number = 2382 time = 138 21 48 11 1735

potential over Toad on channel 1file number = 2383 time = 138 21 4@ 21 175
channel one pre—filter gain @ db shot number 2383 time = 138 21 48 21 7S

wn
fio]

channel two pre-filter gain
channel 1 post Filter gain = & db
channel 2 post filter gain = |1 db

2
channel one pre—filter gain 8 db shot number 2384 time = 138 21 48 31 117G
@ . :

channel two pre-filter gain =
channel | post filter gain = & db
channel 2 post Filter gain = & db

end of tape shot number = 2744 time =1I38 23 14 14 986 reel = 3@
replace tape on unit @ ‘
o start reel 31 time = 138 23 14 24 ?Bq

water delay to B.00008008 seconds time = 1328 22 48 84 718 shot = 282
channel one pre—filter gain = 12 db shot number 8 time =

——channel two pre—-filter gain = 12

channel 1 post filter gain =12 dv
channel 2 post filter gain = 12 db o

start reel 32 time = 13% 88 32 43 827 T
potential ocver load on channel 2 i
file number = 1| time = 13% 88 22 43 827 S

Tft!e number

13% @@ 23 8z 227

channe] one pre- fllter gain = 8 db shot number 3 time
channel two pre-filter gain = 12

. channel 1 post filter gain = 12 dh -

~ channel Z post filter gain = 12 db
potential owver load on channesl 2 o
o 4ile number = & time = {37 8@ 33 13 824 '

db shot number 4 time 132% B 23 13 824

channel one pre-filter gain = @ =

channel ftwo pre—filter gain = 8@

channel 2 post filter gain = 12 db .
~ channel one pre-filter gain = 8 db shot number
—channel two pre—filter gain = 8

channel 1| post filter gain = 12 db

channel 2 post filter gain = 12 db '

channel one pre-filter gain = @ db shot number 7 time = 13% 68 33 43 825

channel two pre-filter gain = @ - i '

| &
12 db

L
o

channel 1 post filter gain

i

—channel 2 post filter gain



channel one pre—-filter gain = & .db shot number & time = 13% 88 23 33 825
channe! two pre-filter gain = @

channel | post filter gain = & db

channel 2 post filter gain = 1 db

channel one pre—-filter gain =

- ch 1 two pre-filter gain =
channel 1 post filter gain = & db
__channel 2 post filter gain = & db

2
8 db shot number % time 127 @8 34 83 823
e e T

water delay to 2.4888008 seconds time = 137 82 2% 832 371 shot = &%%
water delay to 1.0000080 seconds time = 139 B2 29 14 591 shot = 7@a

channel two pre—-filter gain = @

—filter gain = @ db shot number 1494 time = 139 84 41 354 328

~ channel 1 post filter gain = 12 db

~£hﬁﬂﬂ£l*2*nQ*i_iLliEE&QBJ = & db S
channel one pre—-filter gain = 8 db shot number 14%7 time = 13% 84 42 84 328
channel two pre—-filter gain = @

—channel 1 post filter gain = 12 db ‘ _

~ channel 2 post filter gain = 12 db ' .. —~~—~—~— =~ =~
water delay to 2.800000 seconds time = 13% 34 55 84 2?3 shot = 1575
-waxen-dnlay—io_L,ﬂﬂaﬂﬁﬁ_secoads_i¢m&ﬂsﬂlBE*EBHZB_ZLM852 _shot = 2854

end of tape shot number = 2944 time = 13% 82 43 48 821 reel = 32

replace tape on unit @
start reel 33 time = 132 68 44 88 528

patenttal over load on channel 2
file number = 132 time = 13% 8% 85 @@ ??S

Mm;musni4ai_au&n.Laad_nn_Lhannsl_1i¢i§_ﬂumhgr‘~ 124 time = 13% @% 84 18 774
channel one pre-filter gain = 8 db shot number 135 time = 13% 8% 845 28 774
channel two pre—-filter gain = @

. channel | post filter gain = & db
channel 2 post filter gain = 12 db

v,pctentxa1 aver load on channel 2

_JQJJLJumﬁEHL-4£kLJJﬂE“_mlBEMQEMEﬁ“Bﬁ 773

channel one pre-filter gain = 8 db shot number 134 time = 13% 8% 84 38 773
channel two pre-filter gain = @
1 post filter gain db

el 2 post filter gain =6 db
channel one pre-filter gain = @ db shot number @

o @
_channelmiwnmpﬁe_iilienugatn @
channel 1 post Filter gain = 12 db
channel 2 post filter gain = 12 db

start reel 34 time = 13% 18 84 21 &34

 potential over load on channmel 2 -
file number = S5 time = 13% 1@ 13 21 435 :

*paLani;al_ﬁuan_Laadmmn_ghgnne1 z
file number = 58 time = 13% 18 132 51 &£324
channel one pre—*ilter gain = db shot number S8 time

:J

(I

Hac e
Il
e
3
4
e
i)
[
(A
o
e
(18
0l
L

 channel 1 post filter gatn=§vé dhb
channel 2 pozt filter gain = 12 db

I o

139 16 14 B1 434

2 o
__channel cne pre-filter gain = 8 db shot number 5% time
channel two pre-filter gain = @
channel 1 post filter gain = & db

__channel 2 post filter gain = & db

water delay to B.800808488 setnnds time 13? 14 15 @3 887  sho
end of tape shot number = 294é& time = 135 18 15 22 637

__replace tape on unit @

start reel 235 time = 13% 18 15 22 &3%

L}

channel two pre—-+filter gain 12
channel 1| post filter gain = 12 db

é channel one pre-filter gain = 12 db shot anber'ﬂ'ifme
; =
| 12 db

- channel 2 post filter gain




- start reeil Qo Time = 480 ¥Y £8 41 ola
- potential over load on channel 1file number = 1 time = 144 @@ 24 41 215
potential over load on channel 2
file number = 2 time = 144 88 24 51 214
channel one pre—filter gain = 8 db shot number 2 time = 144 88 24 51 214
channel two pre—-filter gain = 12
- channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
potential owver load on channsl 2 ,
file number = 2 time = 144 88 25 @1 214
channel one pre—-+filter gain = 8 db shot number 3 time
channel ftwo pre—-filter gain = 8@
~channel 1 post filter gain = 12 ‘EB;_x{ﬁ;;w,mw;gx“
channel 2 pest filter gain = 12 db

;f water delay to 1.888888 seconds time = 144 @@ 25 41 813 shot = 7
|

144 Ba 25 a1 214

channel one pre-filter gain = 12 db shot number 8 time =
channel ftwo pre—+filter gain = 12

" channel 1 post filter gain = 12 db

f“ channe! 2 post filter gain = 12 “db;

P

potentfa¥ aQéfjicadﬂan“ch&ﬁﬁétf?ff”
file number = 1 time = 144 81 @3
cad on channel 2

144 @81 83 52 73&

: ; G : |
. , , - , . S

} file number = 2 time = 144 81 82 52 73&

- channel one pre-filter gain shot number 2 time

- file number = 3 time = 146 81 84 82 734

~ channel one pre-filter gain = 8 db shot number 2 time = 144 61 84 a2 734
. channel two pre—filter gain = @
channel 1 post filter gain :
channel z_pastvfyltermgaxn_salzfu

potential over load on channel 2
file number = 141% time = 144 @5

potential owver load on channel 11
potential over load on channel 2

file number = 1953 time = 144 84 29 B2 BES
——potential over toad on channel 2 ‘

i file number = 1934 time = 144 8& 29 12 8&5

- water delax to 2. BBBBBB seconds time = 144 6& 41 82 848 shot = 2825

31 3

pote wer—h channel—2 o

flte number = 2454 tnme»= 146 8? 52 32“
potential over load on channel 2 pe

L“4H41Pﬂﬁmﬂﬂﬁ‘*FﬁyEEF*ﬂﬂﬂh*F44H%{HL{EF4 872 : :

i potential over load on channel 1file number = 24534 time = 144 87 32 52 8%1

- potential over locad on channel 2

potential over load on channel 1fil
potential over load on channel 2
r+t“ﬂﬁﬂ&m¢~4~%252?~tTm?—“—T#6‘ﬁ€'ﬁ%—ﬂ?—ﬁco '

potential over load on channel 1file number = 2538 time = 144 B2 A5 12 2&&
channel one pre—-filter gain = 8 db shot number 2531 time = 144 88 85 22 [&4&
chanmet two pre~fitter gain =6 . ErEEeese e
channel 1 post filter gain = & db

channel 2 post filter gain = 12 db
pre—fitter gain =8 db shot number 2532 time = 144 68 65 22885

| channel two pre—-filter gain = @




. o R D o o

water delay to 3 @@@BGB zeconds time = 144 @3 28 22 2834 shot = 2421
water delay to 4,8088688 seconds time = 144 88 22 82 321 shot = 2&31
water delay to 5.608608 seconds time = 144 88 35 84 264 shot = 278%
water delay to 4.808080 zeconds time = 144 B2 S2 35 747 shot = 2814
water delay to 3.868608 seconds time = 144 88 54 44 7579 shot = ZB83%

—water delay to Z2.06880860 seconds time =—1445-8% 88 83 726 ———shot=2%86 ————

water delay to 1.8008080 seconds time 148 A% 18 a2 731 shot 2%1i8
end of tape shot number = 2944 time = 144 8% 14 51 722 reel = 37

i
i

— repltace—tapeon unit-8- -~
start reel 38 time = 14& 8% 15 a1 721
water delay to 2.808088 seconds time = 144 6% 44 81 &57 shaot = 187
—water—delayto 3888880 seconds time =145 8952 21 &44——shot-—=—225

water delay to 4.808680 seconds time = {44 8% 5% 83 &31 shot = 245
water delay to $5.8006680 seconds time = 144 18 684 14 &248 shot = 2%4&

—--chanret-—onepre—Fitter—gain-=8& —db shot number- &8 time = — ———

channel two pre-filter gain = @ '
channel 1| post Filter gain = 12 db

——channet—2Z2-post-Fittergain =-12-—db
start reel 3% time = 144 18 21 15 585 ‘ » - S s
water delay to &4.0000680 seconds time = 14& 18 22 55 582 shot = 11

——channel one pre—fitter gain =6 -db shot number 41 time = 146 18 27 36 591 —

channel two pre—-+ilter gain =
channel 1 post filter gain

= db
——channel—2Z post—+itter—gain—=

=i
Ted Tt

-

channel one pre—filter gain =
channel two pre—-filter gain =
—-ehanmet—t-post—Fitter—gain—

1
A5 g

db shot number 42 time = 14§ 1@'28:961571

P
D U DY R o B Y D

channel 2 post filter gain db

channel one pre—filier gain =

db shot number 13% time = 144 18 44 1& 538

——channet—two-pre—+fittergain =08 o
channel 1 post filter gain = 18 db e e
channel 2 post filter gain = 12 db

'—"thtﬁﬁt+—ﬁﬁt*ﬁff—4++{ef*ga+ﬁ“=~&-db*%hﬁ%—ﬁﬁmbéP—+4@~%+mé———¥4é_¥9—44—3é—533——-~w—

channel two pre—-filter gain = 8
channel 1 post filter gain = 18 db

—-—ctanmet-Z2-post—Fiter-gain =18 -db

water delay to 5.008800 seconds time = 146 18 48 34 529  shot = 145
water delay to 5.0A80088 seconds time = 144 18 48 45 529 shot =

'ﬁﬁfFWfTET_UVFF_TUHﬂ“Uﬂ“thaﬁﬂ?+“f$Tﬁ?“ﬁﬁmbtf“-*45ﬁ—%+ﬁﬁh—~41HF44—€§¥§§iJuh&—————~
db shot number 4328 time = 144 11 24 15 435

channel one pre—-filter gain =
channel two pre—+filter gain =

- § Ny

——hanmel T post-fitter gain
channel 2 post filter gain
channel one pre-filter gain

i

db

o
bt

db shot number 439 time = 146 11 34 25 435

—~cthanmet two pre=fitter gain =
channel 1| post filter gain = db
channel 2 post filter gain = db
——wwﬁnnWThizy*tu—4~%&&&&&*setondt“fﬂmr*k44ﬁ_++~§%—&§~M@L——4#H#+— 3%

I
MM EO NS

[y —y

water delay to 2.880800 seconds time 144 11 52 24 398 shot
water delay to 4.08088080 seconds time 144 11 S5 a3 2F3 shot S&z

] ’n
non

l
|

s48

- water delay to 3,860888 seconds time = 144612 84 44 372 shot = 428
 water delay to 4.8008868 seconds time 144 12 8& @2 37@ zhot &Z27
water delay to 2.800080808 seconds time 148 12 16 53 348 zhot £S48

T PR

terdetay to 2,0888088 seconds time =146 12 13 33 355 shet = &72

potential over locad on channel 1file number = 744 time = 144 12 25 42 3328

|
|
|
|
\
5
. potential over load on channel 2

file number = 744 time = 1448 12 28 @82 229

- channel one pre-filter gain = @ db shot number 74% time = 144 12 28 32 328
- channel ftwo pre-filter gain = @
i channel 1| post filter gain = 12 db
~ channel 2 post filter gain = 12 db
channel one pre-filter gain = 8 db shot number 758 time = 14& 12 Z& 42 3E7




Lhrarnne i LMD pre=Tyi i Lledr gaihn — W
channel 1 post filter gain = & db
channel 2 post filter gain = 12 "db
channel one pre—filter gain = 8 db shot number 751 time = 14& 12 2é& 32 327
channel two pre—-filter gain = 8
channel | post filter gain = & db
- channel 2 post filter gain = 12 db T , T R
channel one pre-filter gain = 8 db shot number 752 time = 146 12 27 82 327
channel two pre-filter gain = @ ' - '
channel 1 post filter gain = & db
channel 2 post filter gain = & db
channel one pre—-filter gain = 8 db shot number 7353 time = 14& 12 27 12 324
channel | post filter gain = é db
channel 2 post filter gain = é db
- channel one pre~ftlter galn = 8 db shotinumber'?54ftime-=?146 : 324
. channel two pre-filter gain =8 : : i
channel 1 post filter gain = & db
channel 2 post filter gain = & db
—channel one pre—filter 7R 12 27 42

time = 144 325

~ channel two pre-filter gaxn o

~ channel 1 post filter gain = & db

__channel 2 post filter gain =8 db G o B e =
channel one pre—-filter gain = @ db shot number 757 time = 14é 12 27 32 328
channel two pre—-filter gain = @

channel
channel

filter gain =
filter gain = @

{1 post
2 post

':judeiay'tai

2. aaaaea sécanda:_

Sa & 144 14 83

delay

2.006000

seconds ti

: to 11 23 111 shot = 1377
water delay to Z.888888 seconds ig 42 a%s shot = 1428
water delay to 2.888008 seconds 22 43 888 shot = 1444
water delay to 1.888B880 =zecconds 23 52 865 shot = 1511
channel one pre—-filter gain = @8 db time = 14 g
~ channel two pre-filter gain =8
channel | post filter gain = & db
channel 2 post filter gain = 8 db
channel one pre—-filter gain = @ db shot number 2257 time = 144 14 38 33 888
__channel two pre-filter gain = @
~ channel 1 post filter gain = é db
~ channel 2 post filter gain =8 db . o
channel one pre—filter gain = 8@ db shot number 2241 time = 144 14 38 53 887
channel two pre-+filter gain = @
channel 1 post filter gain = & db
_channel 2 post filter gain = & db
~ channel one pre-filter gain = @ db shot number 2267 time = 3% B3 =285
~ channel two pre-filter gain = 8 . s i
_channel 1 post filter gain = 12 db
channel 2 post filter gain = & db
channel one pre—-filter gain = 8 db shot number 2247 time = 144 14 48 13 284



iz

r Chahlihel & D=0 T1i1 el gain

channel 2 post filter gain & db
channel one pre-filter gain = @ " db shot number 2271 time = 144 14 48 33 284
channel ftwo pre—+filter gain = @

channel 1 post Filter gain = 12 db
channel 2 post filter gain = 12 db
potential over load on channel 2

file number = 2332 time = 144 14 S8 43 783
potential over load on channel 1file number = 2334 time = 144 14 51 @2 7g2
potential over load on channel 2 o

file number = 2429 time = 14& 17 48 13 &82

potential over load on channel 2

file number = 24328 time = {44 17 48 23 &BZ

channel one pre-filter gain = 8 db shot number 2434 time

144 17 41 23 488

i

channel two pre-filter gain a
channel 1 post filTter gain = & db
channel 2 post filter gain = 1 db

channel one pre—-filter gain =
channel two pre—filter gain =
channel | post filter gain = & db «o
channel 2 post filter gain = &  db

2
8 db shot number 243% time 148 17 41 53 &79
N ‘ : T

water delay o 2:9HBBRAR =econds fime = 142 18 AL B4 24¢ shat = 2784 o
water delay to 4.8860688 seconds time = 148 18 11 35 419 shaot = 2817 i
. water delay to S.00000A8 seconds time = 144 18 14 44 &879 shot = Z848

‘ end of tape shot number = 2944 time = 146 18 33 87 573 reel = 3%

| replace tape on unit @ '

' =tart reel 40 time = 14& 18 33 17 575 .
water delay to &.0080808080 seconds time = 144 18 33 38 574 shot = 2
channel one pre-filter gain = @ db shot number & time = 144 18 24 88 37

. channel two pre-filter gain = 8
channel | post filter gain & db’
channel 2 post filter gain & db

.. channel one pre-filter gain = 8 db shot number 7 time
channel two pre—-filter gain 5]

a1

i

]

144 18 34 18 573

oo

channel | post filter gain = & db
. channel 2 post filter gain = & db _
channel one pre—filter gain = 8 db shot number ? time = 146 18 34 28 572
channel two pre-filter gain = 8 :

. channel 1 post filter gain = & db
channel 2 post filter gain = & db
channel one pre-filter gain = @ db shot number 12 time = 146 18 35 88 571
= @

channel 1 post filter gain = & db
channel 2 post filter gain = & db

"'f‘_-htf‘t‘““ ; nﬁmbw‘w‘ %__H&_%_.qﬁ__gg,@_" FE

T channel one pre= =
channel two pre—-filter gain = @
channel 1 post filter gain = 18 db
—-channel-2 post Filter gain =4 db :
channel one pre—-filter gain = 8 db shot number 74 time = 144 18 43 5& 549
channel two pre—-filter gain = @
— channel 1 post filter gain =18 db
channel 2 post filter gain = 18 db

channel one pre—filter gain 12 db shot number 8 time =
—channel two pre—filter gain 1z B
- channel 1 post filter gain = 12 db i ' -
< channel 2 post filter gain = 12 db
' _start reel 41 time = 14& 1% @7 24 TS89
potential over load on channel 2
file number = 1| time = 148 17 @7 2& 383
— channel cne pre—filter gain 8 db shot pumber 2 time

144 19 a7 3& 5835

channel two pre—filter gain 12
channel 1| post filter gain = | db
. channel 2 post filter gain = 1 db

channel one pre—filter gain 144 1% 87 44 584
channel two pre—+ilter gain

channel 1| post Filter gain = 1

2
z
8@ db shot number 2 time
@
2

=1=1



channel 2 post filter gain = 12 db
channel one pre—filter gain = @ .db shot number 4 time = 144 19 87 3& 384
channel two pre—-filter gain = 8
channel 1 post filter gain = 18 db
channel 2 post filter gain = 12 db
_channel one pre-filter gain =8 db shot number 5 time = 144 1% B8 84 384 l
channel two pre—-filter gain = @ '
channel 1 post Filter gain = 18 db
. channel 2 post filter gain = 18 db
1 |

1file number = 4%& time = 14& 28 2% S& 334
db shot number ST time = 148 28 21 24 2233

potential over load on channe

channel one pre—filter gain = @

_channel fwo pre-filter gain = @
2

channel 1 post filter gain = | db
channel 2 post filter gain = 18 db
. channel one pre-filter gain = @ db shot number S84 time = 144 26 31 36 333

channel two pre—-+filter gain = @
channel 1 post filter gain = 12 db
| channel 2 post filter gain = 12 db

water delay to 5.888008 seconds time = 144 21 34 14 285 shot = 881
water delay to &4.0008060 seconds time = 144 21 44 45 179 shaot = 9585
| water delay to 5.08080008 seconds time = 144 22 32 84 887 shot = 1227

channel one pre-filter gain = 12 db shot number 8 fime =
channel two pre—+filter gain = 12
___channel 1 post filter gain 12 db

channel 2 post filter gain = 12 db

start reel 42 time = 147 88 53 15 797
potential cver load on channel 2
file number = 2 time = 147 @88 53 25 7%7
~ channel cne pre—-filter gain = @ db shot number 2 time = 147 88 53 25 7797
T channel two pre-filtter gain =12 : g o : = , T
channel 1| post filter gain = 12 db
channel 2 post filter gain = 12 db
““ﬁénn_T_ﬁﬁF“ﬁF?_TWTT?F*gETﬁ“—*ﬁ““dh_sﬁut“nnnmnn*ﬁ}ﬂtﬂn?———%ﬁ?—éﬁ—ﬂﬁ—as FPE
channel two pre~-filter gain = 8
channel 1 post filter gain = 12 db
““Tﬂﬂﬂﬂﬂrr—i-gugt—%rftvr—gaTn“ﬂ—ii%—Tﬂ? g
channel one pre-filter gain = 12 db shot numbeﬁ 8 tlme
chanriel two pre—-filter gain = 12

—rohanmet TpostFitter gain =12 —db
channel 2 post filter gain = 12 db

—estart reet 43 time =147 82-3F 25582
potential over load on channel 2
file number = 1 time = 147 @82 37 25 583
——chanmet-—one pre—fit H—=
channel two pre-filter gain = 12
channel | post filter gain = 12 db
= -channel—2 post-—+itter—gain =12 db
potential ower load on channel Z
file number = 2 time = 147 82 37 35 582
-thannv+—aﬁe1mﬂr4ﬁ%itr—ga+ﬁ-“&—ﬁmrﬂﬂmﬂwﬁﬁmbeﬁwé"%+me—-—k¢%4H%15LéEF%
channel two pre-filter gain = @
channel 1 post filter gain = 12 db
—chanmet 2 post—+itter gain =12 —db

~—water delay to &.8086889 seconds time = 147 84 5415 385 —shot-=-822
channel one pre—filter gain = db shot number 825 time = 147 84 54 44 385
channel two pre—-filter gain =

——chanmet 1t post filter gain =1
channel 2 post filter gain = 1 db
channel one pre—filter gain = db shot number 224 time = 147 84 54 S5& 2384

L 1 4 e . —

B
8
& db
2
2



chnanne: 1 poast viHiTer gaithn o Qo
channel 2 post Filter gain 18 db
potential over load on channel 1¥ile rumber = 838 time = 147 84 S5 2& 32832
potential over load on channel 1file number = 831 time = 147 @4 535 4& 283
channel one pre—-filter gain = 8 db shot number 833 time = 147 84 56 @& 382
-wehaﬁﬁe+-%we—pﬁe—+++%e%~qa.” =&
channel 1 post filter gain =
~ channel 2 post filter gain = 18 db
—thtﬁﬁt+~ﬁﬁe~pft—4+++?P~gﬁ+ﬁ~=~3-db*ﬁha%*ﬁﬂmbeP~834~4HﬂHL—»4J”L4NL€#%4%#éMH—~—~—-—

channel two pre-+filter gain = @

channel 1 post +i1ter gain = 18 db

channet one pre filter gain = @ db shnt number 837 ttme = x4,fﬁﬂ’55346~381~
channel two pre-filter gain = @ e

channel 2 post filter gain = 12 db

water delay to 5.080086808 seconds time = 147 B4 55 56 B8 shot
~“*hiﬁﬁf+~ﬁﬁGW?P?“+++%€P“§ﬁ+ﬂ“—~@-éb"%ﬁ&%ﬂ%ﬁﬂ¥ﬁh4k4ﬁﬁﬁ~

channel two pre—-filter gain = @ .

channel 1 post filter gain = 12 db
—“ﬂﬂﬁmﬂﬂrk42—ﬁes+—++¥%eﬁ—ga+ﬁ-~+2-ébw~

start reel 44 time = 147 8% 5% 24 488

water delay to 4., BG@@B@ seconds time

il
-
]
o
B

147 13 37 44 241 shot

i

' channei one pre~¥|¥ter galn = 12 db shot number 8 time =
channel two pre—-filter gain = 12
channel 1 post filter gain = 12 db
 channel’ 2 post filter gain = 12 db
| start reel 45 time = 147 13 58 52 1¢7
tential over load on channel 2
, ile number = 1 time = 147 13 58 52 1?7
_ _potential over load on channel 2
|
|
|
|
|

file number = 2 time = 147 12 5% @z 197

__channel one pre—filter gain shot number & time = 147 13 59 42 194

= @8 db

channel two pre—-filter gain = 12
channel 1| post filter gain = 1 db
= 1 db

| channel 2 post Filter gain
o nnel one pre-filter gain =
nn two pre—filter gain =
i channel'l post filter gain = 1
| channel 2 post filter gain = 1
| channel cone pre-filter gain =

channel two pre—filter gain =
‘ 1 1 post filter gatn
2 post filter gain

~§b?ahat number ? ttm

2

2

a8

1 i
2 db
2 db
a

a
1z

2

‘db shot number & time 147 14 8@ az 195

o ﬁ

w0

water delay to 2Z.0880808 seconds time = 147 15 21 31 @as shot = 57
—poterntial over load on channe i+ - 38  _ 7 _—42_33~;2_5pg_______
: pctentla1 over load on channel 1file number = 214% time = 147 19 Sé 52 483

END ) G552) )l P




